— (-5) X (-8) = (-2)x (20
= (-1) x (-40) = (-4) x (-10)
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2. xX*-94xy-3y S JAF-Ed5tA?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x=3)(x=3-y) @) (x-3)(x+3+)
® (x+3)(x=3+y)

‘ (x+3)(x=3)+y(x-3) =(x-3)(x+3+y)
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@ 20 +4x+2=2(x+[_))?
© ®-6x+9=(_ -3
© 3x24+6x-9=3(x+3)(x-[_ )
® 6x2—x—1=(2x-] DBx+1)
@ 2-Tx+10=(x=5)(x=_]
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15x39-15x32
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15x39-15%x32  15(39 - 32)
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(x-2y-1) & A/stde ol »* A AFE A, x 9 A
BrdEced E A+ B+ C 9 g Fotoiet
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(x-2y-1)(x-2y-1)
=x2-2xy—x—-2xy+4?+2y—x+2y+1
=x%—4xy+4y> -2x+4y+1

2 9 ASE 1, x o] ASE 2, 45T 1 ol
w2t A=1,B=-2,C=1 o]t}
LJA+B+C=1-241=0




